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[loHATME OBMXXeHusA

[1BM>KeHne — 3ToO oTODpaXkeHue
NPOCTPAHCTBA Ha cebs, coxpaHsitoLlee
PACCTOSAHMA MEXOY TOYKaMU



Buabl oBMXeHUS

* LleHTpanbHaa cummeTpus
* OceBad CMMMETPUA

» 3epKanbHasi CUMMETPUSA
 [TapannenbHbIX NepeHoc



LleHTpanbHas cMMMETPUS

Hano:  O(x5;¥0520), A(x,59452,)
Haiimu: A'(x,.y,.z,)

Pewenue

A—> A", O-cepeouna AA',
+x,

xAzxA =x, = X,=2Xx,—-X,
+ v,

yAzyA =Yoo = Yie=2¥- Y.
+ 2z,

ZAzzA =z, = z,=2z,—2z,

A(2xy=x32y, - Y3220 - 2,)



OceBasi CUMMETpPUS

ﬂaHO: a :Mo(x0>y0>zo)> b-l{xhybzl}

A(xy, ¥4.24)
Haiimu: A'(x,.v,.2,)

a
Pewenue :
P Yo _Z7Z VpaeHenue npamoil a
X W Z
H(xy,vy,26), A?J.a, Hea
E-Zj—o (xg —x)x% +(xg —x )y +(x5 —x,)z, =0
{ =YXy =Xy _ Yg— Yo _Zy—Z,
Hea = =
X M Z
(x _ xAx12 +x0y12 +x0212 —x (W (Y — V) +2z(2y—2,))
" Xyl 4z
=1y =A%),
X
z, = z, (¥ — %) +z,
X

AH{x X4 Vg~ Vas 2y — 245
A———> A A Qxy -2y —y4i 225 —2,)



3epKanbHasi CUMMETPUS

Jano : o ax+by+cz+d =0
A(anyA:ZA)
Haiimu - A'(x,,V,,24)

Pewtenue -

ax+by+cz+d =0 — ypasnenue niockocmu , 20e &(a,b,c) la
AH{XHryHazH} “ q(a,b,c) >H cx

Xg =X _Yu T Va4 _ 2y T2
a b c =

axy +by, +cz,; +d =0

a(y,b+z,c+d)+b’x, +c’x,
= a’+b* +c*
b(x, —x
=V = (Ha A)+yA
b(z,—z,)
H = Ha 4+ 4

AH {xy = X,5 Yir = Vs Zyr = 24}
A2 S A4, AQx, —x2y, — V522, —2,)



[lapannenbHbI NEPEHOC

Jano : ;{xpaypazpa}
Ax 5,452 4)

Haumu : A'(x .,y 4,2 )

Pewenue :

A—L 54

Ax,+x,5y,+y,52,+2,)



